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Section I — Listening

30 marks
Attempt Questions 1-10
This section should take approximately 40 minutes

You will hear TEN texts. Each text will be read twice. The question for each text will be
read once before the first reading of the text. There will be a pause after the first reading in
which you may make notes. However, you may make notes at any time. You will be given
adequate time after the second reading to complete your answer. Answer the questions
in ENGLISH in the spaces provided. These spaces provide guidance for the expected length of
response. In the case of multiple-choice questions, tick the box that corresponds to the correct
response. You may proceed to Section II as soon as you have finished Question 10.
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Question 4 (2 marks)

Why is Xavier feeling frustrated?
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Question 5 (3 marks)

Complete the table.
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Question 6 (3 marks)

Why will Elodie go home? Justify your response.
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Question 7 (4 marks)

(a) Fill in the missing letters.

O K35 T U R 1274

(b) Why is the young man in trouble?

Section I continues on page 5
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2011 HIGHER SCHOOL CERTIFICATE EXAMINATION
French Beginners

Section I — Listening (continued)

Question 8 (4 marks)

What are the main points made by Sébastien?
W Slpo DN LA | SChoo\ ands

........................................................................................................

Question 9 (4 marks)

Why is Mr Jackson making this speech?
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Question 10 (5 marks)
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You may now proceed to Section II
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